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General Instructions :

(i) Answers to questions carrying 1 mark may be from one word to one sentence.
(i1) Answers to questions carrying 3 marks may be from 50 - 75 words.

(1it) Answers to questions carrying 4 - 5§ marks may be about 150 words.

(tv) Answers to questions carrying 6 marks may be about 200 words.

(v) Attempt all parts of a question together.
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1. 'S Y S WY ANA-ald S S W 7 W@ g had 3fad & &l e, 1
foraneti 1 oI T 91 3291 bl T L ¥ E 2?7 3T SW & gHedH H R0
é“\aﬂl

‘Is Management concerned only with doing the right task, completing activities
and achieving goals without taking into consideration the cost benefit 7 Give
reason in support of your answer.

2. ‘'Us YA & w9 H T &1 A S | 1

Give the meaning of ‘organising as a process’.

3. 39 GSAHS B9 H A TRy S el Td Ugd @l deidl odl © | 1

Name the type of organisational structure which promotes flexibility and
initiative.

4. HEHE BRAANT H ‘HRHT Fash (¥ &) ' Hi YHAI F1 Seor@ w1

State the role of ‘route clerk’ in functional foremanship.

5. Tl gawe o 39 98] 1 A9 9A1d gU SeeT® hITSC il % i ‘7E1 qdr ‘wwa’ 1
ST 1 STETIRAIST T AE STTAM A H Hheldl &M Sl & |

Name and state the aspect of financial management that enables to foresee

the fund requirements both in terms of ‘the quantum’ and ‘the timings’.

6. T AR Bred & 91E Re[ar Ygr=ml oqq 92 & WY T ygae-fafes ot 1
3RY & ARd 91 3ITeh! 1 ==al of for el o fafire foemmet & @y
AIFEA-HIA &1 3IcUTed 3RY ® | RYa gl 3 I 7eqd foar fe
HaEd-hHl &1 Y 95 Sieal STyafed 89 &t § d91 39 =add § Tcafush
TRl gSiT o faf & sl FR Straegend 8rft | 31d: 36 319§ Sl HHial
1 FaHE ARH HH & T w771 fora |
Tl gSft ot STTavaRarsti sl gHIfod i ot IW dcd bl Tgai-g fSHeh R
S vgr=ml 3 HieEd ®HE & qod B el SHaq™ 1 A f |
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Rizul Bhattacharya after leaving his job wanted to start a Private Limited
Company with his son. His son was keen that the company may start
manufacturing of Mobile-phones with some unique features. Rizul
Bhattacharya felt that the mobile phones are prone to quick obsolescence and
a heavy fixed capital investment would be required regularly in this business.
Therefore he convinced his son to start a furniture business.

Identify the factor affecting fixed capital requirements which made Rizul
Bhattacharya to choose furniture business over mobile phones.

fauom & 39 w1 w1 9 IqET S Al IR Sl AN U9 WE Yo 3
Hrafeed B

Name the function of marketing which is concerned with the cost and location
of target market.

YA ¥ T M gHMCR ¥ Th TG 9 &1 TR 1 Th S TN S
Sl Gie W 3IW TR H Tk el 1 Zohel el | 397 3Heh! forehrd garmer 9
i TS 39t o™ &l g9 wEl & 99 99 Ga1| T 9we & Wil
FHOET 1 JIAR ST % WY gHT % R gl 3R 3Y 3F 95 § U A9
TR T Tohe foon @y & suaht s/gfaen iR afqufd & faw 38 =R fafve g@r
& TR ot feu

e 1 59 Iuvien iR o1 9 foRan 39kt Seei@ hifsTT |

Suman bought a box of cheese of a reputed brand from a local shopkeeper. On
opening the box she found a piece of stone in the cheese. She reported the
matter to the shopkeeper who forwarded her complaint to the concerned
company. Within a week the representative of the company visited Suman’s
residence with an apology and as a replacement offered her a new cheese pack

with four other varieties of cheese as compensation for the inconvenience to
her.

State the consumer right which Suman exercised.
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9. ‘frarem’ =1 uRenfyg wifsw ) e 9fshan & 999 € =X &) THEET | 3

Define ‘Planning’. Explain the first two steps in the process of planning.

10. ot HAS FAETE ToXUTgsisl o @MWl § SR fosiell o Sy fmin &1 2ea 3
FX W | WIS | wgd & ST o IR AT Y T W W W | S A
S¢ A, e SAfi-s14ft oo T I8 ®T €, ¥ IR BRI g & A
e |

qrsehdl 3 9T T 35 o 9t gaR & 7o o & s1fuer sues faar & el o
9| 3% Ifdfled 39 Ul ol U1 HH=1El it Jradl U favar &1 a1 39
HROT HHART G T& 9|

(1) TH Tl <1 FEIWr A1ersti ki Yg= hIfT fSTh R0 IATeE TeIgsss’
37T A&l I YT Tal X 91 W oA |

(9) YU (27) 97 H Y9 T G o1 & YohR i Teh AR 1T hl 3o
hIfSTT |

Mr. Fernandes is the owner of Unibie Enterprises, carrying on the business
of manufacturing electrical appliances. There is a lot of discontentment in the
organisation and targets are not being met. He asked his son, Michel, who
has recently completed his MBA, to find out the reason.

Michel found that all decision making of the enterprise were in the hands of
his father. Moreover, his father did not have confidence in the competency of
the employees. Thus the employees were not happy.

(a) Identify any two communication barriers because of which ‘Unibie
Enterprise’ was not able to achieve its target.

(b) State one more barrier each of the types identified in part (a) above.
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‘HHeHh T=wEsy fafies’ & Hgasyeres-31qd, faqoH steael-famm aen

AHe U Joreeh-aiql 3wt Sied o1 foig foran |

A % & RGN Jorgd 3 A GEIEA Jaeh-afl &l Jarn IR 399
3Ty TR ff 98 died Bled | Ygdl @ielt 9ai &l X1 o1 3 o fean &
! T HHR T F¥a €, 5 foh 9gd € Avg e favewy €, afe uersmd
T 3 I H A S A1 98 qeft e w w S| G RGN TeHh
s9% fou Weud &1 T FUR T gy 7 foy Rewed ' @ goud fwan fo=<iA
‘Odeh T=URsS fafdes’ o fau fauom 1sme1 & 98 &1 faqma faar 39
HFH & U Tk T gl w9t H HRa gUl A & K ug @l
wEieE § IUTed STUTRdd e o6t St 9@ shteh R T )

(31) ST R 9= &l 9 o fa ' HHch T=Ess fafiee’ g’ 9gaa wdl
% ST/ Hidi o H Faisy |
(§) 3T Y9 U 9l & Ycdeh EId o Teh-Ueh oATH ol Seci@ 4l iU |

Atul-The Assistant Manager, Vikas-The Marketing Head and Leena-The
Human Resource Manager of ‘Montac Enterprises Ltd.” decided to leave the

company.

The Chief Executive officer of the company called the Human Resource
Manager, Leena and requested her to fill up the vacancies before leaving the
organisation. Leena suggested that her subordinate Miss Rama Wadhwa is
very competent and trust worthy, if she could be moved up in the hierarchy,
she would do the needful. The Chief Executive Officer agreed for the same.
Miss Rama Wadhwa contacted ‘Smith Recruiters’ who advertised for the post
of marketing head for ‘Montac Enterprises Ltd’. They were able to recruit a
suitable candidate for the company. Atul’s vacancy was filled up by screening
the database of unsolicited applications lying in the office.

(a) Name the internal/external sources of recruitment used by ‘Montac
Enterprises Ltd’. to fill up the above stated vacancies.

(b) Also state any one merit of each of the above identified source of
recruitment.
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12. it foorg A ‘STE.S.UH. o' & I A1 S 3T=sT oy AfSid X Wi eam 3
STOYRT 9gd GO 9 Fifeh dob FAfHd &7 9 9 HT PTAE B @I AT h
3191 o1 IIR-Tod o Fafha €9 9 9¢ W@ o911 % ‘&, o5’ H AR v
Y SO A o Tl foed 9 WA 9 fR 39 Son 9 SR ST, o+
A H1 I TG 9k 61 T g6l B & 14 3% oF & AW Tled #
TSR & o1 I=i 3T Tk o1 7 qehg I o 3R 3§ 394 o& o
3 4 wUe faf=ifaa o & faw &, @9 & 39 YSa a9 &1 o aE |

STRMEY S0 o U¥=Td 319 &1 qod 50% ¢ T AR Tehe o ST &1 9K
e 39 T 6 HUS B T Tehg &l T 2 HUS &I 19 3T I 1 IS T
fomrm #gq &1 ? fou iR 1 e ¥93 W @ fau 9rd gfayfa v fafem

N ¢

are (9+f) wHfow sarell 4 ygds e fafthd 9 & 9. 38 Atafyadr =1
GAM R I et A foR 7g0 W 9 SHEMAT S

ST ST =9¢ 9 el sl 3qYd i gC et gr freuifed foredi <1 vraf a1
TEEIT T SR Seeid hify |

Mr. Vikas Mehra was the Chairman of IBM Bank’. The Bank was earning
good profits. Shareholders were happy as the bank was paying regular
dividends. The market price of their shares was also steadily rising. The bank
was about to announce the taking over of ‘UK Bank’. Mr. Vikas Mehra knew
that the share price of IBM Bank’ would rise on this announcement. Being a
part of the Bank, he was not allowed to buy shares of the bank. He called one
of his rich friends Mukand and asked him to invest ¥ 4 crores in shares of his

bank promising him the capital gains.

As expected after the announcement, the share prices went up by 50% and
the market price of Mukand’s shares was now ¥ 6 crores. Mukand earned a
profit of ¥ 2 crores. He gave X 1 crore to Vikas Mehra and kept ¥ 1 crore with
him. On regular inspection and by conducting enquiries of the brokers
involved, Securities and Exchange Board of India (SEBI) was able to detect
this irregularity. SEBI imposed a heavy penalty on Vikas Mehra.

Quoting the lines from the above para identify and state any two functions
performed by SEBI in the above case.
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YT F&0 AT, 1986 & TEUM & ST{UR Teh ‘IuHiel’ | 1 A9y
€2

What is meant by a ‘consumer’ as per the provisions of Consumer Protection
Act, 1986 ?

‘gory' B o AT B 27 sHet TET Rl o faianeti & 9@y S 39 U
FHeAl & ®Y H Lefud wd! § |

What is meant by ‘Management’ ? Explain its any three features that establish
it as an Art.

SN T SUANT-2Tedl § Uied o e Herst 3, S foh v fWeial wt g e

T 91, Y1 FAaH™ i diheld & Faqd | dga fordn | fearefl & SFau I 36

3fed o W ishele & STRYe Uohs T fRUI I8 Safyss A 1 STHM
T SR SATTART TRY YT HH & U Iihicda. A 79 &I Th Jo@Ee
TIE | Y AT 95 Y e R aidheie &1 okt §RT 381 STty oy
CIECRCRI

IR frafq o afda =meEfas waieRor & STl ol TgeEY Td J9eist |

With change in the consumption habits of people, Neelesh, who was running
a sweets shop shifted to chocolate business. On the eve of Diwali he offered
chocolates in attractive packages at reasonable prices. He anticipated huge
demand and created a website chocolove.com for taking orders online. He got
lot of orders online and earned huge profit by selling chocolates.

Identify and explain the dimensions of business environment discussed in the
above case.
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16. ‘W #R fafree’ 7 uftem sma & T o &9 § el @ & a9gd w9 a4
IUTsY 9, YT T8 wR i 1t Thadt Tenfua s @ fo ferm 39 e
& A 3 ‘O &R fafaes’ & 39 9™ w1 @ R s 9 g off ol
feen o gt o & what, oToudma, aeiR seafe Siet giaemd off Sucrsy &
S qifer & et B HTR % ¥ B 1w & Gid SThivd @ |
‘A R fafgee’ 7 srcafus oy Safsid e IR T fean) Tew-gEdl gfqan
FHEAT F 37O SR Jegs o’ &1 ‘O e faids’ g A few S
| TS oMY & HRON 1 Id1 o & TaTT e |
sfa 3w fo M1 & FfTal § 9ears Sevdl @i uifd o fau fafis
forasti o o= =rafted =g €1 Yois HHar! &l 98 I ¢ {9 A fegs gfa
ST Td SameeE €1 had A a1 & foh Tk §Ted § Feu0 §iMH- @
& Y ¥ & A T, Sk AR wR fafges’ gwue i AEvIRdEaR gt
feemeti # yanfed g9 w1 TIAM YeH Fd €, 9 gl =1 vy geE e ©
AR JTR o T W< 2 S
(37) 97134 & IH YR &l AT Sl ‘AR R fafgee’ ¥ Ty & g4
faemsti § yanfed 31 &1 STH UM T 2|

() YU 9T (37) § U8IM T S o YR & Th oy o1 A Seor@
ISy |

(¥) T8 < gl &1 3o ife S ‘118 R fafhes’ gt o1 9efa e
IR

‘My Car Ltd.” decided to set-up its new car manufacturing factory in the

backward area of West Bengal where very less job opportunities were available.
People of that area welcomed this effort of ‘My Car Ltd.” The company also
decided to provide facilities like school, hospital, market etc. in the factory
premises so that the people are attracted to join the factory as workers.

‘My Car Litd.” started earning huge profit. Another competeting company asked
its production manager ‘Arvind’ to investigate the reasons of earning huge
profits by ‘My Car Ltd.
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Arvind found that in both the companies there was systematic

co-ordination among the various activities to achieve organisational goals.

Every employee knew who was responsible and accountable to whom. The only

difference was that in his organisation communication took place only through

the scalar chain, where as ‘My Car Ltd.” was allowing flow of communication

in all the directions as per the requirement which lead to faster spread of

information as well as quick feed-back.

(a) Identify the type of organisation which permits the flow of communication
in all the directions in ‘My Car Ltd.’.

(b) Also state an advantage of the type of organisation identified in part (a)
above.

() State any two values which ‘My Car Ltd.” wants to communicate to the
society.

‘TTE. TeRY fafiee’ waferRu-TuHeieal % €9 wF R W Bl FauE 7q
3Tt S 9 A JAd T TRl I TR o o e fafis T &t amn &
1 HEHT T Aifd & FATER IH AT g1 STES g AT RN AT STfch I
M WA gRI A &t oft | THH T haa AfYs FHI oar o1 AfYg wfl-
Fefl IH 1 Afge Wl Aohcd off AN K o fAIU FASER AT TSl o1 |
T GRH W&y, AT TS 329l ol Ui & faIt 39 Y&R 9
1 TR R UM &SI ITY STUTRIT o | FFAHT o A HIABRI STTUHRT Tl 5Hoh
IR H g1 =l | 3 A9 Ad1 I o, 39 fav § Ik Wi T bl qA HEIH]
i AN Aifd 9<a <11 Fg o forn o o s § @ wfed 9+t 9= &
1 I B4 SR AR F T HT GGIAN A& bl & S arelt F&fa i ==t
B | TUR GHRHS TIE U1 3R A9 & ToAF ST A Y a1 gRI U
dih 9 &R KT IR w e
& wREGR! ARSI § TG G4 o o dcd bl [oQudist] o1 e
HITSTT |

‘A.S. Environs Ltd." is dealing in Environment-Consultancy. To get the
business, the team leader and his team used to travel to different states to give
presentation to their clients. As per the policy of the company, the team leader
used to travel by air whereas his team travelled by road/train. It was not only

time consuming but also at times forced the female team members to travel
alone.
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As a result, the subordinates were not acting in a desired manner to achieve
organisational goals. The CEO of the company came to know about it. He
called the team leader, discussed the matter with him and decided to change
the travel policy of the company. It was decided that in future all the members
including the leader would travel together and usefully utilise the travelling
time in discussion about the presentation to be given to the clients. This made
a positive impact and every member of the team started acting in a manner
as desired by the team leader.

State the features of the element of the function of management used by the

CEO.

Teh AT [ oM aTelt eie’ 1 faqoe X @ off, Sl $9eht el AR UTeehi
S YSH I S dTelt fasha S Heredl o 6ROl 9gd g off | FFHl aeR
o T STl wEA! off AR eTfyes oy SIfia A W ot | ST oY o R
HrOT J ToIsha-3uU= HaTell T &4 o sig o faan | g9eh IRHT @&y Urgen
o 1 R o Y GO 8 T 991 ST 1 5N H hHH] &l Sfd e 7
TS| JAHM AR & T FTATHH HH T T I e 396 aR | faf<a
geT | Taveryu W 9% va1 =ell foh s9eh1 SRur fashaa=a 9ansti &l &aH # =&
TEAT AT 37d: HFHT 3 ST i T § AT ST{ha Bfd Hl GfHd w3 &
YR GUR H o foaw 9efi Hv9 3um foh

(37) 3w afviq fearfa # faqumendl gra weat i sfa &1 gura & fae gy

YU o YA 1 A Fdd §C IHHT 3eei@ It |
() R (31) ® qgaH T AqeA & e ot ausmEe

A company was marketing ‘Juicers’ which were very popular due to their

quality and after-sale-services provided to the customers. The company was
a leading company in the market and earning huge profits. Because of huge
profits the company ignored the after sales, services. As a result its relations
with the customers got spoiled and the image of the company in the public was
damaged. Top management became concerned when the profits for the current
quarter fell steeply. On analysis it was revealed that ignoring the after sales
services was its reason. Therefore the company took all possible measures to
protect and promote its favourable image. As a result the goodwill of the
company improved in the society.

4
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(a) Name and state the communication tool used by the marketer in the
above case to improve its image.

(b) Also explain role of the tool as identified in Part (a).

foxiia aR g frofea &l o1 Sooi@ hifeTy |

State the functions performed by financial market.

S 99 qd H¥h A @rE Uit | feill gt & 39 $© §EI 9% o€ qd
forepe M afefl heat | o foham ) o 39 heol | W TR o1 9U1 39 I
fofa foen for o8 9 Ud foige 9 M ool WE &t T S ShTE LTiad S|
s fou 39 SRYT Ud oey Ui fee ok 3= 9 &3 &1 Swef-Femmn
S |

3G T 329 gUH o | fafranfsra ufn ) 50% oy A e an 9z o
forn o fo s=n 9 S 2Te, Wi, THe SIE g HElH i SUR W G
S | 394 I ot i e fop 1ot el & Aream 9 sl o fauue o fog
[ft AT O HT U fhal ST I IARA-Ja-4h o &9 | &Y ol
e foran, oo Scarea-foraneti o foare & fawifa @il a1 off fofa femm)
Y A o R e § wHEIREl i SAEvAHdr Hl S el fgaw off TR
fRaT o arelt SmTfaet & faw 78® 7 76 @l &EgER fafys 3akl & e
A b IR H grad A1l AR R SR 7S W Hd 90 AL,
T T T A T894 W T 150 Ffafed & JAMA 1 =ioom off & TR

ST 3TToe § Ufkdl <l 3QYd Hid U 39H dfvid fafys aisiell o gor =1
YgaM HIST qAT 38 FHART |

Two years ago Mayank obtained degree in food technology. For some time he

worked in a company manufacturing Bread and Biscuits. He was not happy
in the company and decided to have his own Bread and Biscuits manufacturing
unit. For this he decided the objectives and the targets and formulated action
plan to achieve the same.
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One of his objective was to earn 50% profit on the amount invested in the first
year. It was decided that raw materials like flour, sugar, salt etc. will be
purchased on two months credit. He also decided to follow the steps required
for marketing the products through his own outlets. He appointed Harsh as a
Production-Manager who decided the exact manner in which the production
activities are to carried out. Harsh also prepared a statement showing the
requirement of workers in the factory throughout the year. Mayank informed
Harsh about his sales target for different products, areawise for the forth
coming quarter. While working on the production table a penalty of ¥ 150 per
day was announced for not wearing the helmet, gloves and apron by the
workers.

Quoting lines from the above para identify and explain the different types of
plans discussed.

21. Ui AICST S U IgUed HFA! | HEikd ¢ | o &6 fodl 9 S8 g@rR a1l 5
STE Ik K I Wd hl TE, A Il Tl foh IH HARA Tl b Teafq sga
e off 37d: W STEqaTa H Wt fohall 7o IR el ¥ SHH! K 9@ i AR
<1 3Tk Tw Weft A 3ok SIfRT off . <esi HI sHh! U fafed = <
A1 &1, <est 7 QA & WIS & et HHEAE @ Tdres’ A W-TE 6w
T 1o FXd gC o fafed a1 | 9 &7 Ja-¥e ol 39 fawg § a1 =l
@ I FEAT IRER o AT IR0 T AH-TH ok & hl GHEE Hl AR
feam

(37) I TT=8% § 35Yd W g S=1ier @ SHT=IReES T § gef-9aq
gl sl SATd HIfSTT |

() ARG T ot fh=l g fovrast &1 Seor@ Hifeg |

(®) SR aRfearfd # aa & 99fa ffe S W 9 6=l § qei &1 9e9m
hifSTT |
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Prateek is working in a multi-national company in Noida. He was running
temperature for the last many days. When his blood was tested, he was found
positive for malaria. He was admitted in the hospital and a blood transfusion
was advised by the doctors as his condition was very serious. One of his
colleagues sent a text message to his superior ‘Mr. B. Chatterjee’.
Mr. B. Chatterjee, immediately sent a text message to the employees of the
organisation requesting them to donate blood for Prateek. When the General
Manager came to know about it he ordered for fumigation in the company
premises and for cleaning the surroundings.

(@) From the above para quote lines that indicate formal and informal
communication.

(b) State any two features of informal communication.

(c) Identify any two values that are being communicated to the society in
the above case.

fTa=o1 gferan & =01 1 ool hifeig |

State the steps in the controlling process.

‘T’ i Tl =R farodisti 1 9uid ity |

Describe any four characteristics of ‘co-ordination’.

*Y fafee T Sauerd vl S g1 36! 79 ISt T 60 @@ B 1 fUsa

a9 ! 9fd 39 ™ T 0.50 off | fafasietor & fau &t &1 T 40 @

STaRea it i STEvashal | $9oh foT HFAT 7 10% R0T9s FifHd &k fod

Thd a1 =me] o # fafifsd gt ® et 3 2 8 s oy @it feram

I 40% 1 W F KT aH o

(31) Iooi@ Sifoe T fafadieto 9 SToenfEl ol 9fd 19 /™9 W &y Agen
B g8 1 STYAT UM sl T &Y § R

() Y B ok YSil Bidl o Teh AW o &Y § KA GRI RGN o FHIHT o 98
T frgl o RHI &1 Scar@ ft Hifeg |
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Kay Ltd. is a company manufacturing textiles. It has a share capital of
X 60 lakhs. In the previous year its earning per share was I 0.50. For
diversification, the company requires additional capital of ¥ 40 lakhs. The
company raised funds by issuing 10% Debentures for the same. During the
year the company earned profit of ¥ 8 lakhs on capital employed. It paid
tax @ 40%.

(a) State whether the shareholders gained or lost, in respect of earning per
share on diversification. Show your calculations clearly.

(b) Also, state any three factors that favour the issue of debentures by the
company as part of its capital structure.

el 7 TEA THH i oM 9§ IR Sl Tk didd @S| sidd W T
AT T TE AT | THeRT YA hieh o8 STWR € g | ST HEq0r At
% ST U e ®RA | T Aifeeht g8 1 3R 36 TRa i TS |

(31) 3w feafd § 39 HAewqul ggq] ol Tg=nie fSweh! foqumeral g staser
HI TS 7

() ITE (31) | TgaM T 8] % Al 1 Q9 § U hIfQ |

Vasvi purchased a bottle of pickle from the local grocery shop. The information
provided on the bottle was not clear. She fell sick on consuming it. She filed
a case in the District forum under Consumer Protection Act and got the relief.

(a) Identify the important aspect neglected by the marketer in the above
case.

(b) Explain briefly the functions of the aspect identified in (a) above.
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